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QUIZ: Writing Equations Date: L T e
L. Write the Slope-Intercept Form of the equation of each line described. Show all work.
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2......a line that contains (4,-2) and (12,-8) U (8-Points)
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5.....the line that is perpendicular to the graph of X~y = -9 and passes through (-8, -3). 0
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6....the line that is perpendicular to the graph o v=9x-35 and has the
same y-intercept as the graph of 8x -4y =-24
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II. REVIEW

7.....a line that contains (6,-5) and is horizontal 4 Po,n-\r_) of €q. /mg J Yariah(,
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8. the x-intercept and y-intercept of the graph of 6x—-12y = 48 (6-Points)
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9. Name the point on the line and the slope of the graph of the equation shown below.  (6-Points)
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